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TI1. (a2 pts) Use either the Integral Test OR. the Comparison
Test to determine whether the series below are convergent or divergent.
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TV. 2pts) Use either the Alternating Series Test OR. the Ratio
Test to determine whether the series below are convergent or divergent.
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V. g2ps) Find the radius of convergence and the interval of

convergence of the series
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VI. (4pts) New series from old. Find the first 5 non-zero terms of
a power series representation about a =0 for the functions:
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VII. (12 pts.) Use the Taylor series expansion to find the first 4 terms
of the Taylor series for the function N . F dd ~ol !

f(z) = i about a=2
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VIII. (14 pts)
a). Use the Taylor series expansion to find the Ta_ylor polynomial
of degree 3 about a =0 for

F(t) = 2™

b). Give a bound on the interval —1/2 < & < 1/2 for the error Fj.
Explain.

‘ nt _ W '"g -
?f/ Q) = '),e“nl = 2., { “’)' S e, ') = §

Pivs ¢et, 95 6, 0 oot
1= 18 e, )= (¥

263 n fa 4 fron b I Xk &'“;) ik

? i

-

- 2 4+ 6y 4 Lg v { S 4 o
2! G 3

= 24 G 4 9t A4 g
b M= 162ett o

Ia.) N valua a&n [,"l..'z,"!’z‘] G! ’Li L) s D

(poe. - tax  Vawk () [6183/1, 2 oo ‘gr

- t’\m )
R‘Ef La ew}fk, T b Me \6'2.(3.%‘ : ?(
R
_ v 1 @
Bl ¢ M tereat o gaekacs
b, 24 “




